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Instructions for the candidates :

Candidate must enter his / her
Question Booklet Serial No.
(10 Digits) in the OMR Answer
Sheet. . :

Candidates are required to give their
answers in their own words as far
as practicable.

Figures in the right hand margin
indicate full marks.

15 minutes of extra time have been
allotted for the candidates to read
the questions carefully.

This question booklet is divided into
two sections — Section-A and
Section-B.
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. [118]
In Section-A, there are .
70 objective type questions, out of
which any 35 questions are to be

answered. If more than 35 questions

 are answered, then only first 35 will

be evaluated. Each question carries
1 mark. For answering these
darken the circle with _blue / black
ball pen against the correct option
on OMR Answer Sheet provided to
you. Do not use whitener / liquid /
blade / nail etc. on OMR Answer
Sheet, otherwise the result will
be treated invalid,

In Section - B, there are 20 short
answer type questions. Each
carrying 2 marks, out of which any
10 questions are to be answered.
Apart from these, there are 6 long
answer type questions, each
carrying § marks. Out of which any
3 questions are to be answered.

Use of any electronic appliances is
strictly prohibited.
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W@Ug - 3 / SECTION - A

Eﬁﬁﬁ'ﬂﬁ / Objective Type Questions
H¥T 9T 18] 70 7% & U 9T & W G ey Ry v & i @ ve agt #
A9 ERT g7 70 wEt [AFew F oMR Mz 9T RifgaT Y1 Y a5 et @1 3w

35 x1=35
Question Nos. 1 to 70 have four options, out of which only one is correct. You have to

mark your selected option, on the OMR-Sheet. Answer any 35 guestions. 35x1=35
1. IRy e 9 war e

(A) 2% tafes I (B) 50% UdiicE 3k
(C)  10% UHieH 37T D) 20% YAfeE I
Pyroligﬁeous acid contains
(A) 2% acetic acid (B) 50% acetic acid
(C)  10% acetic acid (D)  20% acetic acid
G
2. CHyC—NH B T&
CH,
(A)  TTEERIAHA B) HHUS THA
€ <HmRl uHe (D) = TN AT
- §H
CHS—(]: —NH; isa
CH,
(A) Primary amine (B) Secondary amine

(C) = Tertiary amine (D)  Quaternary salt

1.C |- 3005-55/60) Page 3 of 32
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[118]
e et Frefefis f wed wee wW AL ?

(A} C4HgNH, (B)  CH3NH,

€ (CH,),NH (D)  (CHy)sN

Which of the following is the strongest base in aqueous solution ?
(A} CgHLNH, - (B) CH3Nﬂg

€ (CH;L,NH - D)  (CHy)3N

CaHoN -3 & grar Ffetfige & frt s o o & 2

(&) TR Wi B) e i

© it e (D) ¥ & wf

Which of the following can be represented by molecular formula C 3HgN ?

(A)  Primary amine (B)  Secondary amine
(C)  Tertiary amine (D) Al of these

ﬁmraf@aﬁmwm@wwqmm%;

(A) IR (B) R Wi

©) i D) mRe

Which of the following is reduced to get secondary amine o

(A} Nitrile (B] Nitro compound
(€) Carbylamine (D) Amide

Cl- 3005-155;5@] Page 4 o;ﬁ




_ [118]
T A % STel 319ue ¥ Feetad ¥ 9t fiear g 2

(A)  Tak e (B) TeIHIG Ud TR
(C) To[HIW UGS WaEE (D) T UE o
Cane sugar on hydrolysis gives which of the following ?

(A)  Only glucose (B)  Glucose and maltose
(C)  Glucose and fructose (D)  Glucose and lactose
S IE R

(A)  FERESE B fofus

© W= (D) TSR
Enzymes are

(A)  Carbohydrates (B) Lipids

(C) Proteins (D) None of these

s Qe F A H,80, 8 Heso, ! surfa f yarfed fen o & qw o
aifieh == 8, 9% &

(&) e Yewrerer | B) UdHleH
€ UERicEEs | (D)  Hg ¥ HMEIFS

When acetylene is passed through dil. H,SO, in the presence of HgSO,, the

compound formed is
(A)  Ethyl alcohol (B) Acetone

(C)  Acetaldehyde ‘ (D}  Carbide of Hg

‘ C [- 3005-(s5/60) ' Page 5 of 32
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. G Pd/BaS0, C
AfATRAl R~C—Cl + Hy———— RCHO + HCI &I W &
(A) oY arfiferan B) eFgs sl
(C) deiwr sifufra (D) o artafsear
Pd/BaSO,
The reaction, R—C —Cl+ Hy————> RCHO + HCl is called
(A)  Cannizzaro's reaction (B) Rosenmund reaction
(C)  Haloform reaction (D)  Clemmensen reaction
ffefea & o togier o =t S & 2
(A HE B) U
(C)  WuAH . (D) WA
Which of the following docs not give Aldol condensation ?
(A)  Methanal | . (B) Ethanal
(C)  Propanone ' (D)  Propanal

aatﬁrﬁﬁ%@ga%aﬁﬁmaﬁﬁmﬁwﬁﬁﬁ%ﬁﬁm%ﬁaaﬁmﬁﬁmm
fmior gter & 2

(A) HfcegEe 3T (B) EFWERe e

) wrfeR | (D)  Afger U

When formaldehyde reacts with NH ,;, then which of the following compounds
is formed ?

(A) Formaldehyde ammonia (B} Hexamethylene tetramine

(C)  Formalin (D)  Methylamine

| C |— 3005-(ss/60) - Page 6 of 32




13.

14,

15.

118
Frferiae = ® St 1 fFarie e 2 o
(A)  —CHO - (B) —CONH,

(C —COOR (D) —COOCO —
Which of the following is the functional group of an ester ?
(A) —CHO (B) —CONH,
(C) —COOR (D) — COO0CO —

ﬁm%f@ﬁﬁ%ﬂ%mmﬁmmqﬁmﬁ%aﬁﬂwmwmi?

() wfew ® O - (B) oA wl SR

(C) eler 1 9 (D) wifgaH SgSHEHE

By which of the following can formic acid and formaldehyde be distinguished ?
(A) Bendict's solution” (B) Tollen's reagént

(C) Fehling's solution - (D)  Sodium bicarbonate

CCl .
sffFaT, RCOOAE + Br, —2» RBr + AgBr + CO,, 1 F%d &

(A) HVZ ke - B) - EHSIHT AR

) erwie afafEn (D) ifer QA &fufsran
THe react_ion: RCC;OAg + Br, —CE:]—% RBr + AgBr + CO, is called

(A) HVZ reaction (B) . Hunsdicker reaction
(C) Hoffmann reac:tién | (D) | Carbylamine reaction

frefatiaa o forae i s sifshad 8 ?

(a)  K,S0, (B) NaCl

@ g | @)

C |- 13005-(s5/60) . Page 7 of 32




16.

17.

[118)

Which of the following will have maximum depression in freezing point ?

(A)  K,SO,

(C}  Urea

1S FRER AT
(ﬁ) 9,650 HoT

(C) 19,640 Forra

1 Faraday is equal to
(A}  9.650 coulomb

(C} - 19,640 coulomb

(B)

(D)

(B)

(D)

(B)

(D)

NaCl

Glucose

10,000 FHoT=

96,500 FeT

10,000 coulomb

96,500 coulomb

= oe 49T ¥ F 9 e T ¥, | Pt d v e € 2

(A) I SRSTHRES godr &

(B)  H,SO, T: 30 &Il &

(C) OIS TIRIE F IR 01 Fothe TN U S AT &

(D) eIl T WKV GE Il §

What happens when a lead storage battery is charged ?

(A) Lead dioxide dissolves

(B) Sulphuric acid is regeneraied

{C)  Lead electrode becomes coated with lead sulphate

(D}  The concentration of sulphuric acid decreases

LC]-

3005-(s5/60)
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19.

fr=fefiaa sfifraat & fow o el fava & O (25°C W) far man

Ag"laq) + e~ > Ag(s), E°Ag* /Ag=+0-80V

Sn*"(ag)+2e > Sn(s), E°Sn?*/Sn=-0-14V

Can2+ +
52 7 A Sn| SR || P2'| Ag % TorpT e et @ A€

(A)

(€

0-66 V

1-08 V

(B)

(D

0-80V

0-94 V

(118 ]

The standard electrode potentials for the following reactions are given

(At 25°C) :

Ag tlag) + e~ o Ag(s), E°Ag*/Ag=+0-80V

The electromotive force (EMF] of the given cell

(A)

(©

2+ +
S A .
1;?[ | | 11& | Ag is

066 V

1-08 V

Sn?* (ag)+2e - Sn(s), E°Sn**/Sn=-0-14V

(B)

(D)

0-80 V
0-94 V

e sitaiort e Rt & v ot o A ¥ 2

(A)

(€}

iy I

(B)

(D)

fgcias a
g HugE Id

Hydrogen-oxygen cell is which of the following types of cell ?

A

(€)

Primary cell

Fuel cell

(B)

(D)

Secondary cell -

Lead storage cell

3005-iss5/60)
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20.

21.

et Tt sfafra @

(A WG % T e & B e EwTE

C) TEFIWW TG ahale (D) W & oY @R W@ @

The rate of a chemical reaction
(A) increases with time
(B) decreases with time

(C)})  may increase or decrease with time

(D) remains constant with time

frfefes & 19 wom wife @ afafrar @ & 2

(A)  CH,COOC,H, +H,0—" CH,COOH+C,H.OH
(B) CH,COOC,H, + NaOH——»CH,COONa+ C,H.OH
(C) 2H,0,—> 2H,0+0,

(D) 2N,0, —»4NO, +0,

Which of the following is not a first order reaction ?

(A)  CH,COOC,H +H,0—H" CH,COOH+C,H_OH
(B) CH,COOC,Hg;+ NaOH—— CH,COONa+ C,H.OH
(¢) 2H,0,—— 2H,0+0,

(D)  2N,04 ——4NO, +0,

[118)
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22. feafm ot

A) TR s B) PRt s

(C) WEigH s (D) TWERH 37l

Vitamin Cis

(A) Ascorbic acid (B) Nicotinic acid

\S Citric acid (D)  Tartaric acid
23. Trfetaa o faot wame suRem ¢ 2

(A) SRR B Tl

€ Taei c (D) fazi B,

Which onc of the following contains cobalt ?

(A) Chlorophyll (B) Haemoglobin

(C)  Vitamin C (D)  Vitamin B,
04/ FrafafEa o ® gl 9 § 2

(A} AEEE- 6 (BL -6, 6

€) I T At i D) TR

Which of the following is an addition polymer ?

(A) Nylon-6 (B} Nylon-6, 6

(C) High densily polythene (D) Dacron

C ]— 3005-s5760) Page 11 of 32
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27.

F,C=CF, F=fafas & fegs tehes € 2

(A)  THEH (B) TARTHA
(C) TIAH-6 (D) Hl- S

F2C = lCF2 1s a monomer‘of which of the following ?

(A)  Tecflon (B)  Glyptal
(C) Nylon- 6 (D) Buna-S

R -
(A) T A ' (B) UllEmliew
(C) Qﬂﬁﬂﬁ'ﬂﬂ ([2) g AR
Chloroquine is an
{A) analgesic (B) antibiotic
(C) antimalarial (D) antipyretic

fATetEd ¥ $i9 §ie WeeH GZHEies T8l & ?
(A)  ZZHATEEAA (B) FERMERE

© UAfaeE (D) 3 ¥ I TEl
Which of the following is not a broad spectrum antibiotic ?

(A) Tctracycline {B) Chloromycetin

(C)  Penicillin (D)  None of these

(118]

[C - | 3005-(s5/60) _
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29,

30:

Frfofaa o 1 Mwd= § 7

(A)  FARIES (B)
(C) A FFRIFANTES (D)
Which of the following is Gammexane ?

(A)  Chlorobenzene . (B
(C)  Benzene hexachloricle - (D)
(A) I 3 (B)
(€) {TEH (D)
All ligands are

(A) Lewis acids (B)
(C)  Neutral (D}

fpafefiaa § #1 FgEEE € ?
() Ni(CO), (B)

(€  [NiCl,]*" (D)
which of the following is paramagnetic ?

Aa) Ni(CO)4 (B)

(€)  [NiCl,]* (D)

(118 ]

DDT

T Q HE

DDT

None of these

wifoa v

TH 9 WIS Tl

Lewis bases

None of these

|Ni(CN), ]+

[Co(NH,)g | °*

[Ni{CN),]*"

[Co(NH,), ] I+

3005-(55/60)
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32.

33.

e o fovg Sia 1] &1 Mg U WE HOed & ?
(a)  EErEfeE | ) FARNEE

(C) RIS (D) ATP

Magnesium is an important component of which biomolecule ?

(A)  Haemoglobin (B)  Chlorophyll

(C) Florigen (D)  ATP
FE ieet MgA T S U wREN] § 6 d-3eiee T8 ¢, €
&) [MnO,|” (B)  [Co(NH,4)g %"

(C)  [Fe(CN)g >

s (D) [Cr(H,0) 1

The complex ion in which central metal atom has no d-electron is

(A)  (MnO, )" (B)  [Co(NHg)s 1%

(C)  [Fe(CN)g)°~ (D)  [Cr(H,0), ]

T HYF eI & ?

A NHCO) ,— T, TG

(B)  [Ni(CN), % — FIdcld, Hdgraehta

(o) [Ni(NI—13]6]é+ — HLHEARE, G

(D) [NiCl, | %" — AISFEhE, SFIIIRA

[118]

L C |-|3005-ss/60)
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34.

35.

| [118]
Which statement 1S Incorrect ?

(A} Ni(CO),— Tetrahedral, paramagnetic

(B)  [Ni(CN g ] = Square planar, diamagnetic

(€}  [Ni(NH,) 1

3)g1° — Octahedral, paramagnetic

_ 2. '
(D) [NiCl, ] “"— Tetrahedral, paramagnetic

Fetctfiae & foa s a1 3w sfemas o T & 2

Ay Ccl, (B) CHCl,

(C) CH,Cl (D) COCl,
Which of the following compounds is used in fire extinguisher ?

a) ccl, (B) CHCl,

(C) CH,Cl D) cocl,

HAReAI geqe Tehleiicln KOH % &Y Fihar 3 3aT ¢

(A), To (B) UwH

(C) eI o} Uferarles sEeewds
Manohalogen deri’vative on reaction with alcoholic KOH gives

(A) Alkane . (B) Alkene

(C}  Alkyne (D)  Alicyclic hydrocarbon

| C |-13005-s5/60) . Page 15 of 32




36.

37.

38.

39.

(118
TERRE ST 7 HIE0 S Frtenad 7 e g Ea @ 2

(A} o JUEERT Tty (B) Ty JAFERIO a1y

(€ ™ I fay (D) I FHEFL S

Sulphide ores are generally concentrated by which of the following ?

[H.L} ~ Gravity separation process (B}  Magnetic separation process
(C)  Froth floatation process (D)  Carbon reduction process

FreAfetad % #i i o1 fFemsor forger-forede ot fopar & g @ g1 & 2

(8 Na (B) Mg
C) Al : (D) Fe
Which of the following metals is not extracted by the process of clectrolysis ?
(A)  Na (B) Mg
(€) Al (D) Fe

70 @l fafy & g1 Fefeiad 3 T o & Wi gl ?

(A) Cu (B) Al

(© Fe (D)  Zn

Which of the following metals is purified by Hoope's process ?
(A) Cu (B) Al

(C) Fe ' : (D) Zn

frfefiga o FF ToR $H FEE At TR 2

(A)  EEGEH (B @iform

() A (D)  3WH

[C]-|3005-ss/60)
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40.

41.

42.

[118]
Which of the following is the gas with lowest boiling point ?

(A) Hydrogen (B) Helium

(C)  Nitrogen (D)  Argon
frfefea & 9 fak &l SIS T & 7

w ® cl,
(© Br, o 1,

Which of the following forms only one oxyacid ?

A& F, B Cl,
(C) Br, o 1,

S, T WEHT T AT FTE €

(A) +2 (B) +4
C) +8 D) ©
The oxidation .state of Sin Sgis

@A) +2 B) +4
C) +8 D)y ©
S T T A AT € 2

(A) Hj ée (B) H,Te
(G HyS (D) H,0

I C |- | 3005-s5/60) Page 17 of 32




[ 118
Which of the following is the least volatile ?
(A}  H,Se (B) H,Te
(C) H,S (D) H,O
43.  TTferiEd 9 siwRliers e R 39 @ atE HeER WAl § 7
(A) H 28 (B) H, SO,
€ so, (D} SO,
Which of the following acts both as oxidising as well as reducing agents ?
(A)  H,S B) H,SO,
(C) so, | . (D) so,
44. TyAfefEa § o TR g & 2
(A]  NH, (B) NO,
) N,O (D) NO
Which of the foilowing 1s coloured ?
(A} NH, (B) NO,
€) N,Q (D) NO
45. GOyl G H QR TSRS o &
(A tn-1)d® B (n-1)g10 0,10r2
€) (n-1)d''0ns! D) ns?pp
—

1 C |- 3005-s8/60) T
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46.

47.

48.

The general electronic configuration of transition elements is

A (n-1)a® (B) (n-1)d""'0 ng0lor?
(C)  (n-1)a@'"10pg! D) ns®np®

frfeten d et Mn 1 sierdtetor dea <m & 2

(A) MnSO , (B) MnO,

€} Mnjz04 (D)  Mn,0,

In which of the following is the oxidation state of Mn lowest ?

(A}  MnSO, (B) MnO,

(C}  Mn;0, (D) Mn,O,
frafefaa o w19 taermEs Tl € ?

N 55! B) A

Which of the following is not an actinide ?
(A) Curium (B)  Californium

(D)  Terbium

cut (B) Co?'

2 (D) Fe3*

[118)

_(_ZJ - 3005-(s5/690)
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S0.

51.

Which of the following ions is colourless ?
(A} Cu” (B)

(C)  Ni?¥ (D)

Frfefas 3 a9 I whrgeig ¥ 2
a) o (B)

© s | (D)

Which of the following ions is diamagnetic ?

[ 118

Co 2+

Fe 3+

V2+

Ti3+

14

1

(a) o (B)

(C)  sc3 (D)

TR e § 3w ot w den e &

sF 3 (B)

) 4 (D)

The number of Bravais lattices in a cul_:ﬁé_érystal {s
@ 3 - B

c 4 (D)

14

T HLHF R Ffofad & fvaa et @ Tl e &

6

12

An octahedral void is surrounded by which of the following numbers of

(A) 4 | (B)
(G 8 (D)
spheres ?

(A) 4 - (B)
(C) 8 (D)

6
12

C |- {3005-(ss/60
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(1)

| | (118 ]
| AT & 58 YR % 2% & SR e & e § S el & 2

A kel @) diew

(C) R _ (D) F&%

Which of the following types of defects causes a decrease in density of a
crystal ? |

(A)  Frenkel (B}  Schottky

(C) Interstitial (D)  F-centrc
frtafiga 1§ S SRigesg wY ¢ ?

(A)  NaCl | (B) Fe,0,
© o, | D) N,

Which of the following is a ferromagnetic substance ?

(A) NaCl (B) Fez0,
o o, | [
Forert 5 ST T T I 8

) FeEE I o o™

An example of colligative property of a solution is

(A)  Density (B) Mass

(C)  Elevation of boiling point . (D)  Temperature

— | 3005-s5/60) | Page 21 of 32
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6.

57.

[118]

m%lkgﬁmwﬁmﬁﬁMﬁﬁﬁ%

(A) A B L G

(C)  ATderan - D)  Hie T
The number of moles of solute per kg of solvent is called

(A} Molarity (B~ Molality

(C) Normality _ (D) Mole fraction

S i S u BT T W e A R Rt gER % OREET & Sder ¥, 38
(A)  UhEgTe g ' o B) g
(C)  HTEg Dy et

Sclutions which boil at a constant temperature without any change in

composition is called

(A) Azeotropic mixture (B) Unsaturated
(C} Supersaturated (D) Ideal ‘
€ AvhH® [STET ITEM FF-1-3 | 15927 999 H w2, &
(A} CHBr, | (B Bré
Q) CH 4Br (D)  PBr,
The reagent which is used to 1p-repare 1-Bromobutane from Butan-1-ol is
(A) CHBr ;3 (B) Br,
(C) CH,Br (D) PBr, |

C |- 3005-(s5/60) , Page 22 of 32



E frAiciia o & e S § ooy

[118]

C H +Cl, (fery) T omw

(A) AT (B) p-éwéiﬁﬁﬁﬁﬁ?

(D) SIS ¢HATEANIES

Which of the following compounds is formed when —

(C) cRIEEREES

CgHg + Cl, (excess) sunlight

> ?

(A) Chlorobenzene | (B) p—[)ichlofobenzene_

(C) Hexachlorobenzene (D) Benzene hexachloride
59. FietiEd H S ArEeEn wliewn a1 ¥ 2

(A} CH,OH ' ' (B) (CH,),CHOH

(C) (CH,),COH (D) CH,-CH,-CH,-OH

Whicﬁ of the following gives iodoform test ?

(A} CH,OH | (B) (CH,),CHOH

© (CH,),COH | D) CH,-CH,-CH,- OH
60. Fr=ffiga o fHad o8 GuM W Afdel WHETT ST IR E 7

A rEifetEd s ®

B ¥R % v A

©) ﬁ%mﬁﬁaﬁmmwéoﬁm

(o) et ai hi AT HNozﬁr ERET
——

C |- |3005-(s5/60)
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61.

62

63.

[ 118
From which of the following is methy] alcohol prepared on a large scale ?
(A} From pyroligneous acid

{B) From fermentation of molasses

{C) By reacling methyl chloride with dry Ag, O

(D) By reacting methylamine with HNO 2
FrAfcfEE § - it gee dene § suRed tedl § 2

)  —OH (B} —CHO

N

© Jc=0 (D) —NH

2
Which of the following functional groui:s is present in alcohol ?
(A) —OH | (B} — CHO

(C) >C =0 (D} —NH,

frtetEd A s aaifus slm § 2

Ay Teic B) S Ueleien

(€ m-FARIHATA D) AEFARTEE

Which of the following is the maost acidic ?

{A) . Phenol ‘ (B)  Benzyl aléohnl
(C) m-chlorophenol (D) - Cyclohexanol

TR ToshiEreT &1 36R® e § e &

(A) HRH B) &

€ HHU! T @ e

| C |- |3005-(s5/60)

Page 24 of 32




ﬂ | |118]
Catalytic dehydrogenation of primary alcohol gives
(A)  Ketone (B) Ester
(C}  Secondary alcohg] (D)  Aldehyde

o, T S, 203 ——30, Fra1 v @ @it @ -

65.

0,—=0, +0 (r—ﬂ‘q')

0+0; =20, ()

dl 39 AT F1 S wele &
(A} Rate = K[0,]? () Rate= K[0,]%(0,]™"
(C) Rate = K[O;] [O,] (D) Rate=K[O,]) [ 0,17

The chemical reaction, 20, — 30, proceeds as follows :

0,0, +O (fast)

0+0, 220, (slow)
then the rate law expression of this reaction is

(A) Rate= K[O3]° . (B) Rate=K[04]2{0,]!
(C) Rate=K[O;] [0,] (D) Rate=K[0,] [0,}?
maﬁmﬁﬁmmﬁwmmmﬂmaﬁaﬁm% )
a) 233 B 18R

o 23R4 o) 334
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66.

67.

68.

[ 115,
. : '
The temperature coefficient of most of the reactions lies between which o the

followmg ?

()  2and3 "~ (B} land?2
€ 2andg (D) 3and4
HeTfofaa & 2% wmrfeRE HiEE TRl & 2

A) Ty @ %

©  Ferm | o G

r
Which of the following is not a lyophilic colloid ?

(A)  Milk (B) Gum

-

{C)  Fog - . (D) Blood
ﬁﬁ'@muﬁﬁmﬁmﬁﬁaﬁﬁm%aﬁaﬁm% ?

A  1077-10"° ¢m B 107°-10"!' ¢

(C) 10°-107" cm (D) 1072-103 em

The size of the colloidal particles ié. in betweer; which of the following ?
@A) 1077-10"? cm B 10°-10"1 oy

¢y 10°5-1077 | o
() cm - DL 107221073 ¢y

Eﬁf%ﬁﬂ'wﬁﬁﬂﬁ@aﬁ%ﬂmmww%;
(a) RS B) e

© IS

(C |- 3005 5760,




{ 118 |
ﬂ which of

th -
¢ following enzymes is used in the hydrolysis of starch ?

(A) Maltase
(B) Zymase

(C): Invertasc

po. AT sy 8 o

(D) - Diastase

(A) 9 EFH W wed)

2

B) TE W R 7 e ¥

(C) UF JgHSHE I 4T aifusmay st ¥
(D) T &g 4 Sgadr ¢
A

The rate of chemisorption

(A) decreases with increase in pressure

{B) is independent of pressure

(C) is maximum at one atmosp'heric pressure
(D) increases with increase in pressure

70,y &y ot g9 S HEH AT S AR 6 §

(A} Al (B) Fe .
-

©  ca (D) Na

-‘--—_‘——u—.__
[(;J — | 3005-(55/6m) N Page 27 of 32
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The most abundant metal in earth crust is

(A) Al ' (B) Fe

(C) Ca (D) Na
WUg - 9 / SECTION - B

g 9 UFA / Short Answer Type Questions
W¥T §@T 1 § 20 g s & 1 R 10 WA & IR | wdw & e 2 o

frerffea # - . 10x2=20
Question Nos. 1 to 20 are Short Answer Type. Answer any 10 questions. Each question
10 x2=20

carries 2 marks :

1. witae A fufwar w2 | 2
What is carbylam.inc reaction ? ‘

2. forarfate & wwend fo feeier § — o g st @ Sr-Fdere e &1 2
Explain with mechanism that — OH group in phenol is ortho- and para-director.

3 e W AR ) RO & WM e | )
What is Frenkel defect ? Explain with e#ample.

4.  Fzah o R wEd € 2 T e A 2
What are network solids ? Give an example.

5 T v e @ e w ) | )

Explain the cleansing action of soap.

s

| C |- |3005-iss/60) ' Page 28 of 32
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10.

11,

DNA & Y01 9167 31052 & W Al % arg ford |

(118]

Wnte the names of compounds obtained on complete hydrolysis of DNA.

Y IR 3R e o E )
What are ideal and non-ideal solutions ?
THRERT O 5 e ¥ 2

What are isotonic solutions ?

=7 & W= A v 1wpAc A9 fod ¢
() s 5

M) <RNE A |

Write structural formulae and ITUPAC names of the following :

(1) Lactic acid

(i)  Tartaric acid.
"t geer e &1 et & |

Aniline is a weaker base." Explain.

W%aﬁz:rﬁm@ﬁ%%m—ﬁﬁmﬁmﬂm%wﬁ%msﬁﬁfaﬁm%:

FRIT §ad |

2

Helium is also mixed with oxygen in the respiratory devices of sea divers under

the sea. Give reason.

E — [ 3005-s5/80)
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13.

15.

17.

18.

Explain the bleaching property of ozone.

A ue fawminh 3SR F Uh-U IR S|

[118]

Give one example each of homogeneous and heterogeneous catalysis.

Qe g 3 v 3 frarom it 7 e & 7
What is the utility of leaching in the extraction of Al metal ?

et 31 3 e aHe v ¥ 7 TH-us W 3

What are strong and weak electrolytes ? Give one example of each.
e w1 Si iR o A w A E >

What are averagé_ ::?_nd inlsta.ntaneops rates of a reaction ?

SIFRHE 3 W G o |

Write the structure of dichromate ion.

gl aIgede ferle H1 |/EIv |

Give examples of two bidentate ligands.

Qﬁﬁﬁwwwwaﬁﬂﬁwmﬁm%t'wﬁ|

The boiling point of alchohol is greater than corresponding alkane

- R SRy T 2

What is Cannizzaro's reaction ?

Explain.

e

C [-]3005-55/60)
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3 s wew / Long Answer Type Questions

mmmﬁzsﬁa‘ﬁﬁvma‘;wawtmii.m%ﬁ'
5 % fraifee 3 -

3x5=15

Question Nos. 21 to 26 are Long Answer Type Questions. Answer any 3 questions. Each

question carries 5 marks 3x5=15
21. 80, FfefEs & et dw & fem weR sfTlear o € 2 2x25=5
(1) KMnO,

(11) KZCTQO‘?
How does SO, react with the acidic solution of the following ?
) KMnO,
(i) K,Cr,0,
22. ¥ fafy @ s & For o fagr ford) o8 #w wo%he die @ faw wR

AfafEar AT g ? | 5

Write the principle of manufacture of ammonia by Haber's process. How does it

react with CuSO, solution ?
03 wrRTd, WS wd et dewieie & oMy & fend O 2 | .

How would you distinguish among Primary, Secondary and Tertiary alcohols ?

prr—

— [ 3005-(s5/60)
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24.

25.

[118)
S & 41 4w ¢ 2 s @ A B 96 R R
YAl #, F9 w ) 2+3

What do you understand by rate of a reaction ? Discuss the factors on which

rate of a reaction depends.

TR HTE 2 T fF wwR 7 gien & 7 vew WR % I &1 0E-TH IR
5

What is Emulsion ? How many types of it are there ? Give an -exalﬂple of each

type.

T AT € 5 — _ 2x23=5
(@) I et F) sfafman smifame faeex wrede & faeras @ oS S & )
(b) Ul vl sRmE T NaoH % T wE S § 2

What happens when —

(a)  Formic acid reacts with ammoniacal silver nitrate solution ?

(b} Aniline reacts with chloroform and NaOH ?

LC |- l 30b5-(55!60|
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